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learning Objectives

After reaching a decision to invest abroad, the firm evaluates proposals/projects and selects one
or more of them that ranks high from the viewpoint of adding fo the corporate wealth, The
process, known as Intérnational capital budgeting, is discussed in fhe present chapter. The
purpose is:

o To acquaint the readers with different evaluation criteria.
f « To show how cash flow relating to proposal/project is com
parent and subsidiary.

« To discuss the cost of capital that acts as a cut-off rate.
« To explain adjusted present value approach that is an alternative approach to evaluation of

projects.

e To discuss real optio
e To discuss evaluation of an M&A proposal.

¢ To examine the relevance of non-financial factors

International Capital
Budgeting

puted from the viewpoint of both

ns that demand a fresh look at the project appraisal.

in international capital budgeting.

evaluated in order to ascertain whether the implementation of the project is
going to add to the value of the investing company. The evaluation of the
long-term investment project is known as capital budgeting. The technique of capital
budg&i?lg is almost similar between a domestic company and an international

company. The only difference is that some additional complexities appear in the

case of international capital budgeting. These complexities influence the computation
of the cash flow and the required rate of return. In the present chapter we discuss
uired rawe o 7=

241

I I \he decision to invest abroad takes a concrete shape when a future project is
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the complexities that arise in international capital budgeting, but in the beginnin

we look at the fundamentals of capital budgeting techniques. For a detailed idez;

of domestic capital budgeting process, reference may be made to any textbook op
corporate finance. i

EVALUATION CRITERIA

Non-discounting Methods m&ﬁ; I

LUZf I cA\ I ynd )UD}T—EM
) %wﬁiwvd | |
The methods for evaluating investment proposals are grouped as discounting and
non-discounting methods. The non-discounting methods are simple. One such method
involves the average accounting rate of return earned by the project. It represents
the mean profit on account of investment prior to interest and tax payment. The
mean profit is compared with the hurdle rate or required rate of return. A project
1s acceptable if the mean profit is-higherthan the hurdle rate. Despite being a
simple method, it has some shortcomings, namely,(it is based on the accounting

income and not on the cash flow® it considers profit before tax, rather thap
post-tax profit. And finally, it ignores the time value.

PROBLEM 12.1

‘Fi‘_nd“'diit the accounting rate of return based on the following data: | A
: Year Gross Profit Depreciation ‘Net Profit Investment
p $ 2,000 5,332 -3,332 13,334
462 - 6,000 5,332 668" -7 8000
fhk) 10,000 5,332 4,668 "/ 2666 -
Average 668 Jo, 8,000
Solution ;/ £
Accounting rate of return = 663/8,000 8.35% wf
— ~—

The other non-discountin

g method is known as the pay-back period, that is the
number of years required to P

recover the initial investment,

If the investment is not
recovered within the pay-back period, the project should not be accepted. Thus this
sider the cash flow after

method stresses on early recovery of funds, but fails to con

PROBLEM 12.2

Gonsidering target pay-back period as two
is as follows:

years, the cash flow of twd ';)fdpos#ls
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: . Proposal A * " ' Proposal B "\
Initial investment ($) | o =2,000, . . =2,000
Net cash benefits: Year 1 1,200 i 1,200
' Year 2 | 800 400
Year 3 ‘ = ' 300
Year 4 e - 300

Find which project can be accepted.

Solution ' iy g SRRDARAT G,
Proposal A will be accepted because initial investment is recovered within the
target pay-back period despite the fact that Proposal B gives a greater return.

Discounting Methods

Discounting methods take normally three forms:
1. Net present value (NPV) method
2. Profitability index (PI) method

————— _—

3. Internal rate of return (IRR) method , SRR R

the residue . after

Net present value (NPV) rule deducting the initial
investment:from the

In this case, projects are accepted where the present value of net cash present value of
inflow during the life span of the project is greater than the initial |future cash flows

investment. The difference adds to the corporate wealth. The equation is: |relating to a project.
Positive' NPV means

n CF | additions to the
| NPV = —t (-1, (12.1) corporate-wealth.
| LA +E) ; :
where
CF, = expected after-tax cash flow from ¢, to ¢,, including both the operating
cash flow and the terminal cash flow,

) I, = initial investment,
’ k = risk-adjusted discount rate, and

n = life span of the project.

PROBLEM 12.3

A project involves initial investment for $ 5,000,000. The net cash inflow during
the first, second and the third year is expected respectively $ 3,000,000, $ 3,500,000
and $ 2,000,000. At the end of the third year, the scrap value is indicated at
$ 1,000,000, The risk-adjusted discount rate is 10 per cent. Calculate NPV.

Solution,

13,000,000 3,500,000 2,000,000 + 1,000,000
+ N2
1.10 (1.10)% - (1.108
=$ 2,873,778. . :

Project would be }acceptéd because NPV is 'pbsifive.l'

ty+ by + tg — I = - 5,000, OIOO‘l

i i
£
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Profitability Index is| Pr Of’fab””y index (PI)
This shows the relationship between net cash inflows and initial i investmen;,

the ratio between
relative gains and would be expressed as the followmg

the present value of
future cash flows| It shows the

and the initial equation:
investment. n (CF/ + k)
_N | AL R
PI = ; [ T, ] (12.2)
Basing on the above example, the profitability index (PI) is calculated as
PI = 7,873,778/5,000,000 = 1.57

The project may be accepted because PI is more than 1.
Internal rate of Internal rate of return (IRR) rule
;?;gg:”"f :zfe IRR is that discount rate which must bring down the value of cash inflowg
equating the | (net) during the life of the project to equate the value of initial investment
present value of Expressed as an equation,
future cash flows
and the initial n
investment. For z -I,=0 (12.3)
accepting a . o1 L+ IRR)"
project, IHAR >
hurdle rate. = The project shall be acceptable if IRR is greater than the required rate of

return.
Based on the above example, IRR is 40 per cent. Since the required rate of
return is 10 per cent, the project would be accepted.

PROBLEM 12.4
A proposal involves $ 2,000,000. The annual cash flow is $ 1,000,000 for three

years. Find out the IRR.

Solution
Since the initial investment divided by the annuity is 2/1, one has to find out 2

in the annuity table. The annuity factor closest to 2 for three years is 1.9520 at
25 per cent discount rate and 2.1065 at 20 per cent discount rate. The annual
cash flow will be multiplied by these two annuity factors and then a dlﬁ‘erence
of the product from the initial outlay is found out. It is as follows: =
(a) At 20% discount rate: 1,000,000 x 2.1065 — 2,000,000 = 106. 50
(b) At 25% discount rate: 1,000,000 x 1.9520 — 2,000,000 = —48. 00

Since NPV is greater than 0 at 20 per cent discount rate, one needs a high""
dlscount rate to equate NPV to initial investment. ;

IRR = 20 + (106.50/154.50) x 5 = 23.45% e

Ranking of Proposals
anked in

If there are two or more mutually exclusive proposals, they need to be r l
order of preference. Under the NPV rule, first preference is given to a propo
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with the highest NPV but judged by the IRR method ;e et '
the decision could be erroneous. In such cases, the incremg:ll&llf;;g;t;:lhoi‘;tlay C'léffers,_
Suppose t.here are two proposals. Proposal A involves an initial inVe::l sidered.
$ 2,000 with an annual net cash inflow of $ 610 for five years while qent of
having an initial outlay of $ 3,000, has a net cash inflow of $ 900 annualifog'osa] B
ears. In the former IRR is 16 per cent, while it is 15.2 per cent in the l);;tgl‘ five
poth the proposals will be accepted if the required rate of return is 10 ea r f::md
only one proposal has to be taken up, proposal A will be accepted on tll)mr ;eq 1 II"
higher IRR. If incremental approach is taken into account, it is found thaili }:,
incremental outlay is $ 1,000 and the incremental net cash inflow is $ 2;0 ok
annum for five years. The incremental IRR would be 13.8 per cent. In this caﬂf
roposal B would be accepted as it ranks first. The only condition is that IRR

should be higher than the cost of capital.

Choice between Net Present Value and Internal Rate of Return

gometimes the result of the two methods (NPV and IRR) differs because they rest
on different assumptions concerning the reinvestment of funds released from the
project. The NPV rule implies reinvestment at a rate equivalent to the required
rate of return used as a discount rate, while the IRR rule assumes that the funds
are reinvested at IRR. However, in such cases, the NPV rule is preferred in view
of some limitations inherent in IRR. Firstly, where projects of different lives are
considered, the IRR rule will possibly inflate desirability of a short-life project as
IRR is a function of both the time involved and the size of capital investment.
Secondly, IRR tends to be lower on projects with a longer gestation period, even
when NPV remains larger. This is because IRR ranks high in those projects where
several benefits accrue in early part of their economic life. Thirdly, while computing

IRR, there is possibility of more than one solution rate, inasmuch as IRR is calculated
is of degree n, there will be n roots and

by a polynomial equation. If the polynomial

n solution rates and in a changing cost-of-capital framework, the computation of
IRR would not make an easy comparison, whereas the NPV rule incorporates such
changes into the calculation of the cost of capital.

Profitability Index versus Net Present Value
If the initial investment differs, the same amount of cash inflow may yield different
ble that PI may be higher in case of lower

results under the two methods. It is possi !
t in case of these two different methods.

NPV and so the decision would be differen
However, since NPV represents an absolute value, it should be relied upon even if

the PI is higher.

COMPUTATION OF THE CASH FLOW

Basics of Cash Flow

The taking up of a new project demands a part of a firm’s current wealth, but in
return, brings in funds and adds to the firm’s stock of wealth in future. The former

results in cash flow from the firm, while the latter is represented by cash flows into
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the firm. Cnsh outflow occurs on account of eapital ‘:sxpnndituru. other €Xpengeg .‘

(excluding deprecintion), and the payment of tnxes. Cash inflow includes revenue
on account of additional vale or cash from oventually solling of nn asset which i
known as salvayge value,

Cash flows are grouped under threo honds:

1. Initial investmont during the period, 4
2. Operating cash flow during the period, ¢; to ¢,

3. Terminal cash flow or the salvage value that emerges at the end of the

period, ¢,.

To compute the operating cash flow, the following facts should be taken ing,
account, . .

Depreciation is a non-cash expense having no dlrfect bearing on cash flow pattery;,
although it has a bearing on tax liability. Since it influences the amount of tax t,
be paid, the depreciation amount is deducted from the revenue in order to arrive
at the pre-tax profit. But since it does not represent cash outflow, it is added again
to the amount of net profit. The procedure can be illustrated as follows:

Suppose a project generates $ 20,000 annually. The operating expenses amount
to $ 10,000 and depreciation amounts to § 5,000. The tax rate is 50 per cent, The
net cash inflow will be: -

Cash receipt $ 20,000
Less operating expenses 10,000
Balance 10,000 ,
Less depreciation 5,000 |
Taxable income 5,000
Less taxes 2,600 .
Net profit 2,500
Add depreciation 5,000
After-tax cash inflow 7,500

The following factors should be noted:

(a) The cash flow is considered only on an after-tax basis. AL

(by%Financing cost is not included despite the fact that capital has a cost
because such costs are considered elsewhere while determining the project’s
required rate of return. A%

(c) Cash flow is computed on an incremental basis and represents the difference
between cash flow after the investment and cash flow in the absence of
investment. W

(d) There are certain costs that do not involve cash flow but necessarily involve
the opportunity cost. If there is such cost, that is included in the decision
process.

Parent Unit’s Perspective and the Cash Flow

At the very beginning of multinational capital budgeting, the question arises whether
the ca W'Bh"“ld-buﬂmpﬂtﬁi@ilm_!impnint_nﬂ_th&parent-eempany of
from theviewpoint of the subsidiary. This question arises because the cash flow
accruing to the subsidiary may not be represented entirely by the cash flow accruing

—
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to the parent company. In some cases, the cash(;gﬂow of the subsidiary .
sh-inflow-of-th -
as the-ca . e—p&m@_%lt is also possible that erza : reated
Zeruing to the subsidiary may be largégnmough to justify the investment m:o;lo 0
Y. 2t

put its size accruing to the parent company may be t
seems difficult to take a decision regarding accepta‘;ce oro:ejse]:t?(l}['l ({fl}tﬁuc'h cases, it
proposal. In fact, there may be many situations when the disparity i t‘;_lnvestmen
petween the parent and its subsidiary occurs. For if example t;;{altn he cash flo I,\
country and the host country are different, disparity in c asﬂ flore ;Snln the home
possible—that on account “of Tower tax_rates_in the_host @S aﬂ arise. It 18
inflow is large enough to justify the investment proposal. On the otl,let:' lf: -tdax cash
to high tax rates in the home country, the investment proposal may not blc: f’ezgﬁg() , \
|
|

from tll;eyv'ew-peint.of_tb_g‘parent company. The parent company may not accept th
investnféent proposal due to low inflow of cash on account of exchange control

applied by the host government, despite the fact that The cash flow of the project
(2

in question is sufﬁcient for implementation. In a situation where thie parent company
charges an exorbitant price for the technology and management, the cash inflow
accruing to the parm %giny will be larger justifying the investment proposal,
but such exorbitan ts may lower the cash flow of the subsidiary and th
subsidiary may not like the investment proposal. Lastly, changes i e rat

may chan_g_g_l:_h_@,qash_ﬂow of the parent company. When the currency of the host ‘
coufitry appreciates, the parent company gets a larger flow of cash in terms of its

own currency. This may change its accept-reject decision.
The ethics of the corporate financial management are very clear on this issue;

that the value of the ‘act is determined by the net present value of the future
cash flows available to the 1nVi —Sifice the parent company 1s the_inyestor, it

is the mﬁmﬂgﬁamﬂﬁpﬁjiﬁﬁ is taken into account in the context ol

R . P R £odvy Gy B v:n o . ¢ ot N g vy s — _;_'.',«-nnf € Rt A

internationidl capital budgeting. This is wh g.lrom subsidiary company
nical service fees, Or in any

to parent'company either in the form of royalty and tech
 On the contrary, any cash flowing from the

other mode is_treated as cash inflow.
parent company to the subsidiary, is treated as cash outflo e parent company
will agree to invM Torcign project only 1 the net present-value of the
cash ﬂﬁwfﬂw&a
Th ow, as mentioned earlier, 18 y compartmentalised into three
heads. These are:

1. Initial investment

2. Operating cash flow
3. Terminal cash flow

Here the parent’s perspec
cash flow.

tive will be explained in case of these three heads of

Initial investment

Let us first take the case of initial investment. If the entire project cost is met by

the parent company, the entire amount of ipitial investment is treated as the cash

outflow. In some cases, the project 18 partly ﬁnancgd by the subsidiary itself through
f tHe subsidiary do not form a part of the

!W borrowings 0
initial cash outflow. :

<
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| ! | In some cases, the subsidiary makes additional investment for expansion oyt

of retained earnings. At the first instance, there is apparently no flow of cash from
the parent company to the subsidiary but it should be treated as an opportunity
cost because in the absence of retention of earnings, these funds _coult'i have been
remitted to the parent company rather than invested in the project in question.
Thus, the_investment out of retained earnings should be treated as cash outflow
from the parell\t\company’f'ﬁéfgﬁective. The M’éﬁ funds 18 also very
pertinent-in-thisTespectSometimes the host government imposes exchange contrg]

and does not allgw any.cash. the parent company. These funds are knowp
as blocked funds. For this rgsmwmmm
which™is Tepresented by blocked funds is not treated as cash 1nﬂo'w from the
parent’s perspective. Suppose the incremental cash inflow of a project is $ 20
million, out of which only $ 15 million is allowed by the host government to flow
to the parent company. In this case, only the sum of $ 15 million will be treated
as the cash inflow. If, however, the blocked funds are invested in some new project,
that amount is treated as the ifvestment by the parent company and is recorded
as cash outflow.Iithe event of the Host government providing subsidised initial

establishment for the subsidiary, the amount does not form a part of the initial
investment of the parent company.

Example: A project of the subsidiary costs $ 15.5 million. The parent company
makes an initial investment of $ 10 million, a sum of $ 2 million is invested out
of blocked funds, another sum of $ 2 million is taken out of retained earnings, and
$ 1 million is met by the subsidiary out of local borrowing. At the same time, the
host government provides some subsidised establishment for the project that brings
in a gain for $ 0.5 million. Thus in this case, the cash outflow recorded for initial
investment from the parent’s perspective will be: $10+ 2+ 2 =$ 14.0 million. It
may be mentioned here that the initial investment outflow out of blocked funds
and retained earnings is shown at the spot exchange rate.

PROBLEM 12.5

TThe cost of the subsidiary’s project is $ 20 million. It is financed through different:
modes of funds. The parent unit makes an investment for $ 12 million. A sur of
$ 3 million'is drawn out of retained earnings and another sum of $ 2 millionis
drawn ‘out of the blocked funds. The subsidiary borrows $ 2 million from the host
country market. The remaining $ 1 million is in the form of free land and building
supplied by the host country government. Find out the amount of initial investment

from the viewpoint of the parent unit. . -

| & & |
Ll LR e

L
Sle

,:;{Piﬁél"‘tiﬂYéétment."ﬁjblii:‘:-pf:t'réﬁtis_.weiiv'péixii:t,,'.:'_'$:-12. +3+2= 17m11110n R

Operating cash flow

Besides the initial investment, the operating cash flow tooneeds some adjustment. i
As a normaﬁ);ac}cicmﬂd/ﬁﬁough the sale of a subsidiary’s ]
product in the local market as well as in other countries, is shown as the operating -
cash inflow from the parent’s perspective but it is subject to downward adjustment
by the lost income on sales previously realised through the parent company’s export
O’PU\MW@' FIYRR /&bw ~ [2ey W;ﬁw = WFM’ c{[ P;f. -
\.QA" RA ‘ gﬁ"‘ AR )m{‘bu U'h‘-'P‘

: \ 1 '
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ts. On the t : .
to these marke contrary, if the operation N
;mport of components and raw material fl‘OnIl) thelgzrm the subsidiary leads o

such’fﬁo’m be added to the revenue, rent company, the_value of

grample: A subsidiary is fetchh}g‘ $ 15 million through sale o
local market and a sum of § 3 million through export .

laces the parent co Port to a third country, but thi
sale rep e p mpany’s export to these markets b $ 7 millie 8
the subsidiary imports components from the parent com y $ 7 million, Again,
The total operating cash inflow on account of sales in thipany wor'th $ 2 million.
,+ 2 — 7 = 13 million. § case will be: $ 15 + 3

The operating cash flow is influenced by so A
he subsidiary pays royalty to the parent cgmplxyosv]:)i lfagt;rs i?ll§o. Let us assume
cash inflow in the above example will rise to $ 16 million, but 11;‘1 thlon, the operating
faces loss on account of diseconomies of scale due to sh’iftin ofe Pf(liremf company
host country to the extent of $ 1 million, the operatj 83 procuckion to i

st J perating revenue will come down to
$ 15 million. )

The transfer pricing, when the parent company or any other unit of the firm
charges arh-utrary prices for intrafirm movement of intermediate goods, also influences
the operating cash ﬂ_OW- It may be noted here that transfer pricing is adopted
either for better working capital management or for reducing the overall burden of
taxes on the company through shifting of the before-tax prolit to & country with
lower tax rates. If transfer pricing lowers the overall tax burden of the company
and thereby increases the revenue of the parent company, the additional revenue
or saving should be treated as cash inflow. It may, however, be noted that such
inflows are discotunted at a higher rate because they involve greater risk.

If a host government offers incentives, they should be included in the capital
budgeting decision. For example, if the host government offers tax incentives or
provides loan at a subsidised rate, the amount of gain on this account should be
added to the operating cash inflow. When the subsidiafy makes Tocal borrowings
to meet a part of the 1mit nd-pays-interest on such borrowings, the
amount-of-intaFe3t payment is_deducted from the operating cash inflow. Had it
been a case of domestic capital budgeting, the interest payment on such borrowings
would not have formed a part of cash flow since financing cost is included in the
discount rate; but in case of international capital budgeting, the cash remitted to
the parent company will stand overstated if interest payments are not treated as
cash outflow. The present value of cash flow received by th‘e_parent company
should take into consideration the interest paid by the _sub.sxdfary on the local
borrowing and then only it should be compared with the initial investment made

by the parent company.
Inflation influences both

the cost and revenue streams of the project and hence
1 also needs to be taken into account. If the inflation

f the product in the ‘

the inflation rate differentia

——

rate is higher in the host country and if the_import &Q@Qggaﬁt

Companyconstitutes a significan
the Cost will not move up very high but if
the cost increase may be substantial. Again,

the inputs are obtained locally,

iori of the input of the subsidiary, |Inflation rate; . =

ditferential needs -
: consideration. as it
as far as revenue is concerned, |influences the. -+

tition from foreign suppliers and if the |cash flow.. .0

¥

't will move up if there is no compe

®mand for the product is price-inelastic. So the computation of cash flow

felies on the inflation forecast in the host country and its possible effects. If,
OWever the inflation is quite volatile from year to year, as is found in many
veloping countries, an accurate forecast is not easy to make. i
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ion i ize of cash flow. Changes in the
rate fluctuation influences the size o ' . .

01;13;9 :‘:;(;}lzl'lagri‘thems"élirgs tagged with the changes in the ra.te of 1nf}atl?n but
:}}:ere a%e other factors too that shape the exchange rate fluctuations. It is dlfﬁc}ﬂt
to predict the behaviour of all those factors. Nevertheless, the cash flow computation

process incorporates different scenarios of exchange rate movements. From

Exchange rate-  «{ the parent company’s point of view, appregiation in the currency of the
changes influence| 1ost country will be favourable and will increase the size of the cagh
the cash flow and
also the discount
rate.

inflow in terms of the currency of the home country. This gain may
| partially be offset by higher inflation rate for the moment, but if the rate

of inflation is expected to be lower in future thus helping appreciate the

value of the host country’s currency, the subsidiary may ir?vest locally the amount
of its payments to the parent company till the §trengthen1ng of the currency. The
accumulated earning of the parent company will be larger after the appreciation
of the host country’s currency.

PROBLEM 12.6 ] | | |

Calculate the operating cash flow on the basis of the following glaté:I - J

. (a) Sales in the domestic market = $ 10 million |
' (b) Export = $ 4 million : ~ BB LT

- {c) Replacement of parent’s export = $ 2 million ~ ' ! el

(d) Parent’s export of components to subsidiary = $ 3 million R

i (e) Royalty payment by subsidiary = $ 0.5 million. ‘ A

(f) ‘Dividend flow to the parent = § 0.5 million
Solution SoAh ' ‘ i

$10,+4 +3+ 05+ 05— 2~ $16 million, /1 il

Termi_nal cash flow

Besides adjquments in the initial investment and in the operating cash flow, some

adjustments have to be made for the salvage value that influences the terminal
cash flow. If there is provision in the foreign collaboration agreement for reversion

of the project to the host ernment. after a certain period of time on the payment
of a_specifie-amount,_that specific amount is treated as the termi h-ififTow.

Also, if the first condition - is 1ot present; themet cash flgw enerated-inthe terminal
year is multiplied by a specific number of Jears- Ede_fEE%roduct is treated as the
terminal cash-iriflow. In case the project-is.dismantled in the terminal year, the
scrap value is treated as the terminal ¢
~— WHen the salvage value is uncertain, the-parent company makes various estimates
of the salvage value or terminal

cash flow and computes the NPV based on each

Break-even salvage
value exists at zero

possible outcome of the terminal cash flow. Alternatively, it computes the
bl‘e?.k-even salvage value which is the terminal cash flow necessary to
| achieve zero NPV for the project. The break-even salvage value or the

i nggative;"'Oﬁ‘thE"eontrary, i%‘iﬁﬁt company.-.assesses tm"fhﬂ_@‘srl(ﬂdh

vy break-even. terminal cash flow is then compared with the estimated terminal
cash flow. If Mlﬂfﬁ(ﬁ@@ﬁh flow is less than the brea}i_fy_lm__ggl,@ge

Val,‘,@—the‘m. stment-propasal will be ré}ecfeiillg?g:ﬂau_s,alf.megps,'ﬁhe NPV will be

L \\ v .
would sell for more than the-break=even salvage value, it will"ificorporate this
assessment into its accept-reject decision. x

aSh inﬂov"",':ﬁ-h,._% s ot A i 4 AT,

|
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Here the break-even salvage valye o
. eeds some further expl . -
£q. (@2.1) and segregating the cash flow heginni ¢ fmmeép aﬁl;atémn. Rearrangmg
cear into the operating cash flow, OC e first year to the nth

even salvage value can be derived: Fi and the terminal cash flow, TCF,, break-

nr - -
_~| ocr 7
NPV_E t |, |_TCF, g
1 L+ RY | (@+ry | 7°
_~| O0CE 1 [ Tcr ]
0= ¢
+ S
:Z.{_(Hk)’_ | (L+ k) To
Io-z[ OCF, _ _TCF,
ta L+ &Y aA+r"
TCF, = |1. -} _OCF, '1+ .
[u gl,(l+k), x(1+ kY (12.4)

Th‘us it is clear from Eq. (12.4.) that for the computation of the break-even terminal
cash flow, there is need to estimate the present value of operating cash flows or the

future c‘ash. flows without the salvage value. When computed, it is deducted from
the initial investment and the difference is then multiplied by (1 + &)

_Suppose the net cash inflow in a three-vear period. which is the life span of the
project is respectively, $ 10,000, $ 12,000 and $ 13,000. If the initial investment
§s 3 20,000 and the discount rate is 10 per cent, the break-even salvage value will
be:

$ [20,000 - {10,000/1.10 + 12,000/1.10% + 13,000/1.10%}] x (1.10)° = $ -11,680

PROBLEM 12.7

Find the break-even salvage value if:
(a) Initial investment = $ 30 million '
(b) The net cash inflow during the first and the second i
S5 i

= $ 20 million and § 15 million By > 218
(c) Discount rate = 10% ' D™ *b,}i, X :.fi}_% b
_ LR . o . - .
Solution . . - v \b % RO i
Applying Eq. (124), we get o '

. [30 —(20/1.10 + 15/1.20) x121 =7$.0.7(.l:mﬂlii’oin.

o e il e st e A i Bl

Computation of Blocked Funds

In many cases, the host government imposes restriciions on the outflow | Bockad &nds
of funds from the country in view of strained balance of payments. Such (== sten e
funds, as mentioned earlier, are known as blocked funds. Suppose

|
_ ) s A . |resirices cutfiowr of
host government says that the net revenue mﬂ_g_e_jgu;:;&deQm S Fom e E
Darent only after ion_of the project and not every vear, this *mr‘ R, &
Brovis certsinly influence the cash flow. -z

e —

_4——"‘—"_—'-"-

-
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vample where a US subsidiary in India takes up a project that
hnslznmiilf{s I’)?kt%?:ee;:nrs with the expected net operating cash- gow of $D20,000,
$ 40,000 and $ 42,000 respectively in the first, §econd and .the_ thlr_ years.Filscount
rnte.is 10 per cent. One can think of three possible scenarios in this case. First, the
Indian Government allows the outflow of cash to the home countrfzr every year.
Secondly, the Indian Government allows the outflow of cash on!y after the life of
the project and not every year. The blocked fund thus created is not invested by
the subsidiary. Thirdly, the subsidiary invests the .blocked funds that earn 10 per
cent interest. The amount of cash flow will be different in each of these three
Scenlif]'ril:;;s;re is no such exchange control and the cash flows to the parent every

year, the total cash flow will be:
$ 20,000/1.10 + 40,000/(1.10)% + 42,000/(1.10)° = $ 82,795

Again, if there is exchange control and the subsidiary does not invest the
blocked funds, the amount of cash flow to the parent unit after the third year wil]
be: $(20,000 + 40,000 + 42,000)/1.10% = $ 76,634.

Yet again, if there is exchange control, but the subsidiary invests the blocked
funds, the cash flowing to the parent unit inclusive of interest earned after the

third year may be calcslated as:
$ 20,000 (1.10)? \+ 40,000 (1.10) + 42,000 = $ 110,200

$ 110,200/(1.10)3 = $ 82,795

PROBLEM 12.8

A project of the subsidiary with an initial investment of $ 10 million has a net
operating cash flow of $ 10 million each for three years during the life time of the 8
project and a salvage value of $ 4 million. The host government permits the cash
flow to the home country only after the life time of the project. But the subsidiary
invests the funds at a rate of 12 per cent till the actual outflow takes place. Find
the NPV assuming a discount rate of 10 per cent. What will be the NPV if (a) the
funds are not invested, and (b) there is no restriction on the outflow of fur)ds.'i.-
Solution Ry i
The total invested value = $ 10 (1.12)° + 10(1.12) + 10= 12544 + 11.2 + 10

= $ 33.744 million ' ¢
, NPV = -10.0 + (33.744 + 4.0V1.10° = § 18.357 million, ~~ . - |
If the funds are not invested, | ‘ o

NPV = -10.0 + (10.0 + 10.0 + 10.0 + 4.0)/1.331 = $ 15.545 million

If Vtt;hére is no restriction, the funds will f1
any investment,

ow annually to the homé country Wlth"“t

214

o [ NPV = 100 + 10110 +10.0/1.21 + 14.0/1331 = $ 17.873 million; - e

Ty BV
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Parent-Subsidiary Perspective: An Alternative Apprbach

The a’ﬁﬁ?i aorf;e I};{ﬂﬁ% appraisal in the earlier pages of this chapter takes into
accoun ) it's perspective, of course, on valid reasons. Even in thi

the parent unit takes into account the subsi(iia S - least, to some
oxtent and makes adj_us‘tments in the cash flow rgx’ldllires I:figf:l;fn: tr:tjzstt;ge:o&e
NPV frameworls. But it is often argued that for a more transparent appraisal of th:
investment prOerct, project appraisal needs to be made in greater details—both
from the parentg point of view and from the viewpoint of the subsidiary. It is for
this reason .that In a survey of 121 US MNCs operating in early 1980s 48. per cent
of the decisions were made on the basis of the project’s cash flow, 36 p’er cent were
taken on the basis of the parent’s cash flow while 16 per cen;; of the decisions
considered both Fhe viewpoints (Stanley and Block, 1983).

The very rationale of this argument is that if project’s NPV is positive, it is
bound to add to the corporate wealth of the firm as a whole. Under this app;oach
two NPVs are computed. One is the NPV from the parent’s perspective (NPVp) anti
the qtl?er is the NPV from the viewpoint of the project itself that is known as the
subsidiary’s perspective (NPVg). Finally, acceptance/rejection decision of the project
is based on the NPV of both of them.

In order to find out the NPVp, the following successive steps are taken:

1. Estimate the cash flow in the hest-country currency

9. Estimate the future spot exchange rate on the basis of available forward
rates

3. Convert the host-currency cash flow into the home-country currency
4. Find NPV in home-country currency using the home-country discount rate.

Here the cash inflow represents all cash flowing towards the parent unit in a
manner similar to what has been explained earlier. Cash outflow will represent
cash flowing out of the parent unit.

Similarly, to find out the NPV, the following steps are taken:

1. Estimate the cash flow in host-country currency

2. Identify the host-country discount rate

3. Discount the host-currency cash flow at the host-country discount rate
4. Convert the resultant NPV into the home-country currency at the spot

exchange rate.

sh inflow represents the earnings of the project in the host-

In this case, the ca
pective of the fact whether cash moves towards, or away

country currency irres

from, the parent unit. ] wr ‘
These li):wo ‘methods assume all-equity capital structure and so, if the parity

conditions existed in the real world, the result of the two approaches would have

been the same. But in the real world, debt is normally included in the capital
structure in order to lower the cost of capital; and moreover, the parity conditions

do not exist. Naturally, the result of the two approaches will differ. The possible

results will be:

1. NPVpand NPVs
9. NPVp and NPVgboth

both being neéaﬁve. In such case, project cannot be accepi;ed.
being positive. In such case, project shall be accepted.
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3. NPVp > 0 > NPVg, The project is attractive from the viewpoint of the
parent unit but not attractive from the subsidiary’s viewpoint. In such
case, project may be accepted but there will be chances for loss in the valye
in terms of the host-country currency.

4. NPVp < 0 < NPVg. The project being attractive from the subsidiary’s
perspective shall be unattractive from the parent’s perspective. The project
may be accepted but it is doubtful how far it will be useful for the parent
unit. v

COST OF CAPITAL Cost «f capibd,___

In the preceding section, the discussion was limited to the numerator of the
NPV-rule equation. The denominator of the equation, which is known as the discount
rate or the hurdle rate and which is based on the risk-adjusted cost of capital, is
also very significant for the computation of cash flow. We now discuss the concept
of the cost of capital, and the adjustments in it that are required for international
capital budgeting decision.

Average Cost of Capital

Average cost_of capital represents the weighted_average of the cost of equity and

S

the cost of debt. As an equation, the average cost of capital,
S \
k= kel - W4 + kW, (12.5)

-where k4 is the cost of debt, %, is the cost of equity, W is the relative weight of
different forms of capital in the capital structure and ¢ is the tax rate.

\JLost of Debt

Interest ; is the cost of debt adjusted for taxes because interest is tax-deductible and
is debited In the income statement before tax is calculated. Tax-adjusted cost of
debt,

kq = interest/principal x (1 — #) (12.6)

The cost of new debt differs from the cost of existing debt as the former includes
the floatation cost. The cost of new debt is '

k4 (new) = [I + {(P - NPY/n}{(P + NP)/2}] x (1 — ¢t) ' (12.7)‘

where I is the interest, P is the principal, NP is the net proceeds after floatation

cost and n is the maturity.

Example: If annual interest charges amount to $ 5,000, the cost of $ 100,000 ten-

year debt with a tax rate of 50 per cent will be:

9,000/100,000 x (1 — 0.50) = 2.5%
If it is a new debt and the floatation cost is $ 2,000, the cost of debt will be:
15,000 + {(100,000 — 98,000)/101/((100,000 + 98.000)/2}] x (1 — 0.50) = 2.63%.
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When a debt instrument is isgued at a i i
remium
differ from the face value and the same pr(l))cedure e soaupt
new debt. SUPPOSQQ ten-year bond h
a coupon of 5 per cent. The cost of

. ,-the net proceeds
_ 18 used that is used in case of
aving a face value of $ 100 is sold at $ 90 with
debt with a 50 per cent tax rate will be:

5 + {(109 3 90)/10}/{(190 + 90)/2)] x (1 — 0.50) ='3.15%

Again, if the company raises debt from another country’s financial market the cost
of debt will be inclusive of the changes in the exchange rate. For example’ suppose /

. ~Irom the US dollar market at an i
6.0 per cent. But if dollar appreciates by 3.0 per cent, .theec at an interest rate of

rupee will be higher than 6.0 per cent. It will be: ost of debt in terms of

' | ;
| (1 +0.06) (1 +..03) -~ 1 =, 0.0918 = 9.18%
, The readers are suggested to"' g0 through Chapter 15 for a detailed discussion.

Cost of Equity Shares

Dividend is the cost of equity share;a‘he computation of the cost of equity shares
is'not so easy as there is no fixed contractual obligation for the payment of dividend

to equity shareholders. Sometimes the cost'is based on the historical rate of return,
but the problem with this method is that it does not embrace the expectations
about future performance of the firm. The usual practice is to rely on the current
value of shares. The price of equity share P, is equal to the present value of
expected dividend D given the risk-adjusted rate k, required by the investors. To
arrive at the cost of equity shares, the normal practice is to divide the expected
amount of dividend at the year-end by the current value of shares. In equation
form, ‘ )

k. = DIP, (12.8)

But since the investors expect growing rate of dividend per share, growth factor
g is added to Eq. (12.8). Then

ko= DIP) +8 ‘ (12.9)

Example: If dividend in the past has grown at 5 'per cent per annum and. the firm
expects to pay dividend at $ 4 per share at the year end, the cost of equity share
with a current price of $ 50 will be: w

| | . (4/50) + 0.05 = 13%

As far as the cost of new share is concerned, it is computed after adjustment
of floatation cost. This means that the floatation cost is deducted from the market
price of the share. Suppose, the floatation cost is $ 5 per share, then the cost of
equity share will be: ' =

450 = ) + 0.05 = 13.89%

There is“‘ one maréﬁ method for compﬁting the cost of equity shares. It is based
on the security market line where Beta is used as a measure of risk (Friend and
Blume, 1970). Under this method, the cost of equity share,

bl ks Ry + (R — Rr)Be (12.10) -

Iy "
s A
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where
k. is the riskless rate of interest, - I\
k,, is the expected rate of return (average) on the portfolio of all securities in
the market, and .
B, is the product of the standard deviation of the return on the equity share
in question SD,, and their correlation with the market, corr,y, divided by the
standard deviation of the rate of return on the market portfolio, SD,,

The estimate of f§ is made from the past rates of return since historical B is
often close to real or true . If B is equal to 1, it means that the risk contained ip
the equity shares is equal to that found in the total portfolio in the market, A
higher 8 shows share risk higher than in the market. Similarly, riskless rate ig
equal to the rates found in class-one securities. The average market rate is cloge
to the historical average rate of return in a large sample of securitie

i N
Example: If k. is 10%, k., is 15%, and B is 0.8, then ’h‘- ~ h‘( LTb'l"rf I*'f!) P)&

ke = 0.10 + (0.15 - 0.10) x 0.8 = 0.14 = 14%

Cost of Retained Earnings

Funds for investment come normally from the retained earnings. In case of domestic
investment, the cost of such funds is not calculated separately because the market
price of shares, which determines the cost of equity, embodies also the influence of
retained earnings. But in case of international investment, cost of retained earning
is calculated separately because the earnings repatriated by the subsidiary to the
parent company are subject to tax. Thus, the normal practice is to make tax
adjustments in the cost of retained earnings. The after-tax cost of retained earnings

ks = k(1 - t) (12.11)

If the retained earnings involve transfer cost when they move from the parent to
subsidiary, Eq. 12.11 will be written as

K, = K1~ -C) (12.12)
where C = transfer cost /

Example: An American subsidiary operating in India has 15.0 per cent as cost of
equity. The repatriation of retained earnings causes an incremental tax of 20.0 per

cent. The transfer cost in remittance is expected to be 2.0 per cent. The cost of
retained earnings will be: '

LA

0.15 (1 - .20) (1 - 0.02) = 0.1176 = 11.76%

PROBLEM 12.9
Calculate the weighted average cost of capital when the capital structure shows:
e § XIstmg debt O_f $ 5.0 million at 10 per cent for 6 years (tax rate is 30 per

éf?‘:\débt of $-‘3;0 million at 8 er"‘cent‘fd 10 i in tof
| = $200’000 i lP“ for 10 years with a floating cos‘_;‘,r;
|| (©) Existing equity shares of $ 7.0 million

A1 i rate.of 5 per cent and dividend Ppay-out ratic » , ik
PR R FZs . - y-out ratio of 50 per cent, and = ' "
), Proposed equity share (100,000 shares) to be sold at $ 15 with $ 200,000
B RoRtaRanieosta s, | i D et e D B T el

£l
- " » ~ \¥is
Rt e A L O S N e e A A1 A e

’
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Solution "\ T

Existing debt: 0,10 (1 = ¢ 30)':“‘ IRETEEG P g o
: 9U) = 0.07 Gt i, :
debt; [240,00 5 R IR et
e ~s4(').089%5+(i(?208%)0900—_'0§ 800,000)/1011/3,000,000 + 2,800,000y
Existing equity:(9)y ) = B0BRTBE ;1 1 Lt T

+ 0.05 = 0.1833 -
New equii_:y s_hare:h‘2/.1 0.1833
Proportions: =~ . |

Existing debt: $-5,000,000/1

ST I T S A ;-%:'
3400520209 . i S

New debt: 3,0.0_0,000/16,500,06500(1’_0333— Wil o i
Existing equity: 7,000,000/16,500,000 < .45 =

New equity: 1,500,000/16,500,00'0' ='-70‘-‘09'.’-!"'-;i"f-l""‘i’j EAGH

Weighted average cost: =~ 1 . |
Existing debt: 0.31 x 0.07 = 0,021
New debt: 0.18 x 0.0628 = 0.0113 ikt
Existing equity: 0.42 x.0.1833 = 0.0770 - '
New equity:- 0.09 x 0.2038 = 0.0183 " '
Weighted average: 0:1283 = 12.83% /' '« /",

Significance of Weight

We have seen Eq. (12.5) where the cost of equity and the cost of debt are added
up along with their relative weight. The weight is significant in the sense that the
cost of debt, as it is tax-deductible, is often lower than the cost of equity; and so,
if the capital structure consists more of debt or the lower-cost capital, the weighted
average cost of capital will be lower and for this reason the introduction of debt in
the capital structure called financial leverage lowers the average cost of capital and
thereby raises the return on investment. However, there is difference in views as
to what extent the use of debt reduces the weighted average cost of capital.

The net income approach suggests that with growing proportion of debt, the
average cost of capital declines and is the minimum where the entire capital is
composed of debt. One of the shortcomings of this approach is that it does not take
into account the risk borne by the equity shareholders as a result of increasing
share of debt in the capital structure. The net operating income approach on the
other hand, takes this very fact into account and suggests that the risk borne by
the equity shareholders rises at the rate at which the cost of capital falls after the
introduction of debt. The ultimate result is that the average cost of capital remains
constant irrespective of the changing ratios between debt and the equity capital.
However, there is a compromising view which suggt?sts.that up to a certain point,
an increase in debt-equity ratio does not lead to a rise in t_:he rlsk_bome by equity
shareholders with the result that the average cost of capital .begl'ns to fall but if
the company goes on increasing the debt-equity ratio beyond this point, the increase
in such risk outweighs the benefit of increasing debt and‘.the average cost of capital
begins to rise. This means that the average c_ost of capital curve is_U-shaped.

Solomon (1963) agrees with th: C‘imPTOItl}lse_ aPPILOaCh blut s%gssts that the
average of capital curve in actual practice is not exactly a ut a saucer-
Shape%l 0(:: tIt is lﬁecausp both the cost of equity and the cost of debt Tise with a
continual rise in the debt-equity ratio. Increasing debt raises risk not only of the
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‘ 1 ing debt raises the
|l i t also of the bondholders because increasing
" eglllcl?fr‘ sz&rxfllzoglt‘ilfgso];tuimal debt-equity ratio represents the point where the average
| ns * ey i
' cost of capital is lowest,

Average and Marginal Cost of Capital

up a subsidiary and makes addi‘tional mves:tment for tl}ls purpose
x}:iei!;‘ :hgf:]saise “I,)eight of different for;ns of capital and theg‘ :gst remain (ionst:nt
even in respect of additional capital ralsed,. the average an b e l_'ﬂﬂrg}nizl d‘i:t(:)'s of
capital are the same. But since these two variables change wit ralslfng 0 .: 1 ’Eﬁnal
capital, marginal cost of capital is different from average COS‘;IO cap ?l‘ us,
while setting up a subsidiary, this factor needs to be considered, especially when

the sources and the cost of capital change.

International Investment and Cost of Capital

Let us first consider why the cost of capital in case of an MNC’S operatior} is not
necessarily the same as in case of a domestic company. The size of an MN C' 1s quite
large, so it gets preferential treatment from the creditors and the size of its issue
being large, the floatation cost per share or bond also works out lower.

It has easy access to the international capital market and so it gets

MNGs' easy "' | funds from the least-cost source. The subsidiary too borrows from the
;igs::ﬁ?nai /..,/| domestic capital market if it finds the cost of capital low there. Importantly,
capital market /| a1 MNC can internationally diversify its sources of funds and so ensure
| lowers the cost of | a stable inflow of funds which reduces the probability of bankruptcy and
} capital, but the lowers the cost of capital. But at the same time, as the flow of funds in
| iistence- of | multinational operation is highly exposed to exchange rate changes, it
exchange rate and . ;
/ political risks | Taises the bankruptcy cost and compels the creditors and shareholders to
raises it. require a higher rate of return on the capital. Again, the international

operation is subject to political risk which also requires a higher rate of
return on capital. Thus these facts need to be incorporated into the computation
of the cost of capital in the context of multinational investment. |

- Parent’s Perspective and Adjustment to Cost of Capital

Those who believe in efficient capital market suggest that the cost of capital in
different countries is analogous and hence the parent company’s cost of capital may

Bu.t in practice, the international capital market is segmented which requires
ad_]ustme_an.ts to the parent unit’s cost of capital. If the cash flow is discounted at
the subsidiary level, the cost of capital obtained in the host country is used for this

: *
purpose. But in cases where the parent unit uses the home-country cost of capital,

it makes some adjustments to it,
Firstly, the cost of capital should be adj
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Higher debt-equity ratio is found if there ig:

. Stable cash flow '
Easier access to the sources of debt
Low interest rate and low credit rigk '
Low level of retained earnings =
Restrictions in the host country on the
Restrictions in the h"ﬁt‘icounfry,,on.;&ivi dend repatriation .

R TS COTB Sl

AN . Determinants of Capital Structure 77T
The debt-equity ratio in a ‘multinational ﬁr R bR s vy
R S Yo s 3 e s e v ationg m depend oy ke
characteristics as well as on the economic envirmfmén?: ;,1111 tﬁ’;f&?ﬂiﬁx’f O
: ' i . n.v ’,.T:‘:;:.',".

participation in‘equity shares .

High degree of exchange rate risk ‘and political risk in the host country

R s
§ |’_-‘-_':1l' 3

S
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s
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e 24
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The capital structure norms depend also on the rules and regulations in the

host co.un_try. In host cour.xtries where foreign equity participation is restricted to
lower limits, the debt-equity ratio is generally high. Again, when the subsidiary is
more exposed to exchange rate risk, a higher debt-equity ratio is desirable. Yet

again, when political risk is very high in the host country, the MNCs rely
more on loan from host-country creditors because the creditors will then
put pressure on the local government to maintain good relations with the
MNC. If however, the interest rate is high in the host country as it is in
many developing countries, the MNC uses more of equity capital. Capital
structure norms thus vary from one host country to another and from
one MNC to another. If the same MNC invests in different countries, its
target capital structure in each host country will differ from its global

If debt-equity
norms in host .
'countries differ
greatly from those
of the parent
company, the
MNC makes -
adjustment in its
global target -
capital structure

target capital structure. In order to minimise this difference, the MNCs
adopt different norms in different host countries. If they rely more on
debt in one host country, they try to rely more on equity in another host country.
If the debt-equity mix in all the subsidiaries taken together does not match its
(parent unit’s) own capital structure norms, it tries to adjust its norms to the
global target capital structure norms through adding a premium to, or making a
discount from, the parent unit’s cost of capital.

Secondly, the parent unit’s cost of capital is adjusted in keeping with the extent
to which the subsidiary is able to get funds at lower cost either from the domestic
financial market or from the international financial market. If the cost is lower
than the cost of capital of the parent unit, the discount rate needs to be reduced.

Thirdly, the discount rate also needs adjustment for inflation. If the cash flow
is adjusted for inflation, it should be discounted by the real discount rate or the
inflation-adjusted discount rate, but if the cash flow is not adjusted for inflation,
it should be discounted hy the nominal discount rate. )

Fourthly, the discount rate is adjusted for various types of risks, political,
economic, or both prevalent in the host country. If these risks are expected to be
present in the host country, the discount rate needs an upward revision. The

extent of upward revision depends upon the severity of the risks.

norms.

ADJUSTED PRESENT VALUE APPROACH

Lessard (1979) has developed a technique for international capital budgeting that
is known as the adjusted present value (APV) technique. It incorporates most of the
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complexities emerging in the computation of cash flow and in the determination of
the discount rates already explaine'd in the preceding se-ctmm;.. . e

Under the APV technique, the initial cash flow consists o C fap cost of
the project minus blocked funds, if any, in the host country ac"“’a;e y the project.
This amount is converted into the home-country currency at the spot exchange

I-at’eéimilarly, the operating cash flow under the APV technique consists of:

Present value of after-tax cash flow from subsidiary to parent converted

into the home-country currency at the expected spot rate minus the profits

on the lost sales of the parent company )

Present value of tax-adjusted depreciation allowances in terms of the home-

country currency ' . e o %

e Present value of the contribution of the project to borrowing capacity in
terms of home-country currency subject to adjustment for taxes

e Face value of loan in the host-country currency minus the present value of
repayments converted into the home-country currency

e Present value of the expected savings on account of tax deferrals and
transfer pricing and,

e Present value of expected illegal repatriation of income.

Terminal cash flow consists of the present value of residual plant and equipment.

It may be noted that for tax adjustment, the APV technique takes into account
the higher of the home-country and host-country tax rates. This technique is unique
in that it uses different discount rates for different types of cash flows. The cash
flow on account of sales and other such revenue is discounted at the all-equity cost

. of capital; depreciation allowances are discounted at the nominal rate; the contribution
of the project to borrowing capacity is discounted at the riskless rate, and the
repayment of loans in host-country currency is discounted at nominal interest rate
prevalent in the host country. Again, the rate used for discounting the savings on
account of taxes and of transfer pricing and illegal repatriation includes the risk
premium.

Despite uniqueness of the APV technique, it has been found that if the complexities
are incorporated in the cash flow and if the risk-adjusted weighted average cost of
capital is taken as the discount rate, the adjusted present value approach is not
different from the NPV approach (Booth, 1982).

PROBLEM 12.10

An Indian company is making appraisal of its project to be set up with its subsidiary
in the USA. The initial project cost amounts to US $ 125,000 which, as expected,
will add Rs. 30 lakh to the Indian company’s borrowing capacity over a period
of three years. A sum of Rs. 40 lakh of the initial investment is met by the Indian
parent and the remaining $ 25,000 is borrowed at 10 per cent interest rate in the
'USA.! The project has a-life of three years. The net operating cash inflow is
f*’,—i50,0()0,' $ 60,000 and $.72,000 respectively in the first, second and third year.
The salvage value is expected to be $ 10,000. o ‘

The spot exchange rate is Rs. 40/$. It is assumed that PPP holds with no lag

ence of exthangs rate reflects anticipated annual rates of inflation equating}

RETSRPIS FF UER PP SR
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g per cent in Rs. and 5 per’ ‘cent in dollar; ‘Deprei ) —
Rs. 15 lakh a year for three ! years. Tax rate is %O p::l:gn:lrlwlil:iﬁisaiﬁ?;; o
cent in. the’ USA: Expected tax saving from' Aintra-firm transfer pri P9
Rs. 50,000 a year in all the three years. Dlscount rate for: cash' flo spr cmg
all equity financing is 20:per cent. Discount rate for deprecia tlon/tw assununt
interest deductions from contribution to borrowing capaclty 18.12 per caxts?)mg o
rate relating to loan repayment is 20 per cent and on tax s:awpe i
transfer pricing-is 25 per cent Fmd the APV o ing on. account oﬁ

Spot exchange rate = Rs. 40/8 SRR
Year 1 = Rs. 40 x (1.08/1.05) = Rs; 41 14/$ RN Py . “
Year 2 = Rs. 41.14 x (1.08/1.05) = Rs.. 42, 32/$ G i oy A
Year 3 = Rs. 42.32 x (1.08/1.05) = Rs. 43.58/8 = .~ . | .oosiie

Operating cash flow (lncludlng salvage value) g BT
Year 1 = 50,000 x 41.14 = 2,057,000/1.20 = Rs. 1,714, 167' Lo : il
Year 2 = 60,000 x 42.32 = 2,539,000/1. 202 = Rs, 1,763,333

Year 3 = (72,000 + 10; ,000) x 43 63 = 3 ,069, 460/1 203 = Rs. 2 065 660
Total = Rs. 5,543,160

Depreciation allowance x tax @ 0.30:,

Year 1 = Rs. 1,500,000 x 0.3 = 450,000/1.12 = Rs 401 785

Year 2 = Rs. 1,500,000 x 0.3 = 450,000/1.12% = Rs. 358,737 !
Year 3 = Rs. 1,600,000 x 0.3 = 450, 000/1 123 = Rs. 320 307 ied
Total = Rs. 1,080,829

Borrowing capacity: | i
Year 1 = Rs. 1,000,000 x 0.10 x 0.3 = 30000/1 12 = Rs 26786

Year 2 = Rs. 1,000,000 x 0.10 x 0.3 = 30,000/1.12% = Rs. 23,916 =~ |
Year 3 = Rs. 1,000,000 x 0.10 x 0.3 = 30000/1 123 = Rs 21,354

Total = Rs. 72,056 -

Tax saving on ac00unt of transfer pncmg

Year 1 = Rs. 50,000 x 0.3 = 15,000/1.25 = Rs. 12, 000
Year 2 = Rs. 50,000 x0.3 = 15,000/1.25? = Rs.'9, 600
Year 3 = Rs. 50,000 x 0.3 = 15, 000/1. 253 Rs 7 680

Total = Rs. 29, 280

Loan repayment: (mterest + amortlsatlon).
Year 1 = 10,833/1:20'= '$9,028: '
Year 2 = 10,000/1.20 = $:6,944

Year 3' = 9,167/1.20° = § '
Total ='.‘$5721,,_27’7‘_

— 21 277) >< 40]- ~A’R§)1,874:145 .i_; : j_‘: ‘ RS e '1

SENSITIVITY ANALYSIS

The focus of the foregoing discussion was on how adjustments are made in the cash
flow and the discount rate in the case of international capital budgeting. It is true
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tted into the evaluation rules, such as NPV and

imated cash flow is fi s .
;}II{?: tlgsltestﬁ??ufestion arises as to how the _estimates of cash_flow vary under

: . .t the host country experiences boom conditiong,
dif‘feren}t ?lcem\;li(;ls‘bgo:l i?és:gﬁl?; o];[n B O caso of 4 normal perio d or in case of
the cash oW Again, the subsidiary may gubstitute the pa.ren!; company’s export
a de'pli(fssm{l.ful 1&;’ dépen ding upon varying conditions exi_stugg in thc'host coqmry
pm(.ltlflf }trl‘1:1host ;;overnment agencies are strictly monitoring th_e_lntOmat}onal
:Emslnctions, it will be difficult for the company to empl_oy tran,ﬂ_k?r'grfl.ﬁl?% techniques
and the saving on this account will be miplmum. Obv1qusly, it i8 fl icult to foresee
the future possibilities and so equally difficult ?o est"lmate th(?d I;turedcaﬂh ﬂqws
with complete certainty. Similarly, the cost of capital will vary wi eﬁ" ;n er varying
degrees of business, financial and political I‘.ISk. r;‘he varying cash flows and the
varying discount rates under different scenarios will have a bearing on the e‘l‘ccepb
reject decision. The sensitivity analysis considers the varying scenarios or wh'at. )
if” scenarios. The purpose is to determine how sensitive the NPV is to alternative

of the input variables. _

valulismay be nI:)ted here that when the cash flow is not known with complete

certainty, probabilistic techniques are used for this purpose. The magnitude of

uncertainty is measured in terms of dispersion from the expected value ?nd then

it is included either in the cash flow or in the discount rate. The formgr is known

as the certainty equivalent approach, while the latter is known as the risk-adjusted
/ discount rate approach. In cases of sequential investment, a decision-tree approach
| is followed. The readers are advised to consult any book on corporate finance for

the analysis of risk.

REAL OPTIONS AND PROJECT APPRAISAL

International investment is more risky than domestic investment insofar as the
foreign investor does not know much about the economic, political, and other conditions
————— prevailing in the host country. There is every possibility for changes in
:ﬁi‘n‘_’tﬁg‘r’:ﬁsﬁéff the cash flow from the originally anticipated one. If demand falls suddenly,
éxpected a/change | the operation would have to be suspended for some time. If situation
in; cash'flowifrom ; | does not improve, it may be abandoned. If, on the contrary, demand rises

:g"'ﬁéﬁf;%;"dé'-%éf suddenly, operation may be expanded. In the cases where the investor
‘a?é‘ cghcei.r;ing Y| needs more information, the operation may be postponed for some time.
postponement/. || These are the options facing the international finance manager. These
abandonment/'". | options are known as the real options as they influence the real assets.

expansion/, /', || They influence the international cash flow and therefore form a part of
contraction of-the | | i+ tional ital b : .

‘operation. 4 1nternationa capital budgeting. At the present juncture, we shall take
i \[l] up only one or two options so that the readers are acquainted with how

real options influence the cash flow. : -'

‘P‘ostponement

In case of postponement, option value is decomposed into the value of options if

exercised today and the value if waiting is involved. Investing today is the intrinsic -
value and waiting for a specific period represents time value. Let us take an
example to explain its impact on the qash flow. Suppose a petroleum exploration =

i \.‘ ! {
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ompany has to und ‘ Mational Capital Budeerin,  to4gm |
c ertake a project abroad. I invests seting 1263
d‘ay, C i 7
V ’ NPV Of invasl o Onsld;nng that
VI o= [{P - V)Q}/I‘] _IO 2

If it waits for one year before mak;
maxing any inves
tment, the NPV at ¢
’” at time ¢

NPVO = [[(P - V)Q}/r]/(l +P) ] =0,

(12.14)

price level of oil is $§ 10 per barrel. th ;
expected production is 1,00,000 barr’els z ;:;‘ral:i %(;;tvls f§ 4 per barrel, and the
[{(10 - 4)1,00,000110.101 - 50,00,000 = § 10,00,000° > "1 P

If, on the contrary, the com A
’ ’ pany waits for . L
to go up to $ 15 per barrel, the NPV aﬂeraozzi’res: cthisf vgilillcie?f g e

[{(15 - 4)1,00,000}/0.10)/1.10 - 50,00,000 = $ 50,00,000 :

Here NPV for wait is high
e voar. The value of %h:r‘.) pSt(i)oghio compt:;l)ny sizgulq postpone the investment for )

h hanie he of _postpone the investment can be viewed '
managena.l ﬂembll}ty. It is because of this flexibility that thé company gains moris. f
However, 1f_' the price of 011. per barrel shrinks unexpectedly to a lower value, the ;
company will not_make an investment after one year. It can be analogised with the
out-of-money option when the option buyer does not exercise the option.

Abandonment

The project may be abandoned if the cost structure does not justify it. If the
extraction and refining cost rises unexpectedly to $ 8 per barrel (with price per
barrel being $ 10), the NPV of abandonment today will be:

[((10 — 8) 1,00,000)/0.10] — 50,00,000 = $(-) 30,00,000

The company will abandon the project in view of the negative NPV. But if price of
oil is expected to rise by 100 per cent after one year, the project will not be
abandoned. Rather, the company shall wait and watch fo_r the price rise. If it rises
as per expectations, it will continue to operate. If the price does not rise after one

: i andoned finally. .
year, the project will be a? ot easy to abandon a project and |Hysteresis denotes
MNCs’ behaviour

In fact, in case of MNCs, 1t 1s I : ;
restart the same project. It i because they have fo mclu r h;‘gh eﬁ?t?;i when they prefer
exit cost. If they once invest, they prefer to operate at loss for so to operate at loss
) 2 ttains abnormally 2 high level. Normally, they |for some time in
unless and until the loss a that favourable conditions will |the expectation of

p . expectation N .
;atchlfos‘,r shome .tt:;:; Ofi;he resis that usually arises following mitri%l:: &
revail. Such a si &

known as hyste
changes in real exchange rates when the MNCs have to face loss for | eanpear,
sometime and then gain if the exchang

e rates move in their favour.

Expan and Contraction
g and the .company raises its production le.vel, 'it will find
If demand goes up suddenly 27 It will expand the Jevel of operation if the NPV

M= value of s there is 1o expansion.
1s greater than for the case when
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Again, if demand falls suddenly, the company will ﬁr}d out the NPV'of contracted
level of production. If it is greater tha'n for the case with no contraction, it will )
for contraction in the level of operation. The readers should try to compute the
NPV in different scenarios and then conclude what should be the real option hefore

the firm.

PROBLEM 12.11

A Japanese automobile company has decided to manufacture 10,000 motor carg
per year in India with an initial investment of Rs. 500 crores. The price ig
Rs. 2 lakh and the variable cost including also the import cost of the spares ig
Rs. 1,30 lakh. The risk-free interest is 10 per cent. The car ig the lowest-price car
in the market and so the demand is expected to rise from 10,000 cars in the first
year to 12,000 cars in the second year and even more in the following years. On
Q the other hand, the rupee is expected to depreciate vis-a-vis yen and the variable

Q" |cost is expected to rise fast from Rs. 1.30 lakh to Rs. 1.80 lakh. Find out what
Q |are the options available to the manufacturer. :

Solution QQD CAD 4\9,) - S80 (ROL
1\60‘ At the current level of production,
NPV = [{(2.00 — 1.30) x 10,000}/0.10 - 5,00,00,00,000 = Rs. 2,00,00,00,000.
If demand moves up to 12,000 units,  -.
NPV = [{(2.00 - 1.30) x 12,000}/0.10 - 5,00,00,00,000 = Rs. 3,40,00,00,000.
But if variable cost rises to Rs. 1.80 lakh due to exchange rate changes,
NPV = [{(2.00 — 1.80) x 10,000}/0.10 — 5,00,00,00,000 = Rs. —3,00,00,00,000.

The manufacturer will bear the loss within a reasonable period of time till any
clear-cut indication is not visible for a favourable movement in the exchange rate.

If favourable move is visible, production will be continued; otherwise, the project
will be abandoned. « ;

EVALUATING Mé&As

Value of the Merged Firm and Gains from M&As

M&A is a gainful strategy only when the value of the combined firm is greater than
the sum of the values of the two firms computed individually in the absence of the
merger. In the form of an equation,

Gain = Vg — (V, + Vp) (12.15)

However, the gain so derived has to be compared with the cost of M&A that is
arrived at after deducting the value of the target firm from the price that the

acquiring firm pays to the target company. This means that the net gain from
M&A accruing to the acquiring firm exists only when

[Vag — (Va + V)l > (Price — V) - (12.16)

t

of
.I" . “
yoitas A T : x‘:
ARSI W sl
= L. - - al
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v”f

Thus, in this context, it is very signi :
o should pay to thostatget rrryn fogrn;ﬁct;aut}gi:?o:nowd wh:t price .the acquiring
changes in price on the post-merger value of the firm 3vn 1:{ bat . m']pa?‘t il
as the consideration value that is fixed within the two Zl;trerzleThS e
the floor price for the package, any price below which is not aceeptable |Coademion 7
by the target company. It is basically the market value of th PLable yaiue is the price e
, target company. For ex if Fi : _o & ahgres of the acqifidng &7
the targ pany ample, if Firm A acquires Firm B and if the |company gives to
market value of Firm ].3’3 share is $ 15, the consideration value must be the target
at least $ 15. In practice, it is more than $ 15 as Firm B will attract company for
premium for the acquisition. | ? |acquiston. .
However, this does not mean that the amount of premium will swell infinitely
If it moves up l_)eyc_md a certain limit, the value of the acquiring firm will reduce'
and the very objective of the acquiring firm behind the merger will be marred. This
limit is knqwn as the ceiling price where the EPS of the acquiring firm in the post-
merger period is equal to that in the pre-merger period. In other words, the ceiling
price would be equal to the product of the EPS of the target firm and the P/E ratio
of the acquiring firm. | '
Suppose the financial data of the two firms are as follows:

‘ Firm A Firm B
Present earnings (§) . 20,000.00 8,000.00
Shares (No.) 5,000.00 3,000.00 *
EPS ($) 4.00 2.67
Market value of shares 32.00 16.00
Price-earning ratio{ PER ﬁ_ﬁﬁs‘) 8.00 6.00

At the floor price, the value of Firm B in the post-merger period will be the same as
during the pre-merger period. The owners of Firm B will get 16/32 or 0.5 share in
Firm A for their one share in Firm B. Thus, the wealth of Firm B in the post-merger
period will be $ 32 x 1,500 shares or $ 48,000 which is equal to $ 16 x 3,000 shares
during the pre-merger period.

At this floor price paid, the EPS of Firm A after the merger will increase to
$ (20,000 + 8,000)/(5,000 + 1,500 shares) or to $ 4.31. Assuming a price-earning
ratio of 8.0, the value of one share of Firm A after the merger will be $ 4.31 x 8.0
or $ 34.48 and the value of the merged firm will be $ 34.48 x 6,500 shares =
$ 224,120 which is higher than the sum of the value of the two firms in the pre-
merger period. Using Eq. (12.16), the net gain from the merger will be:

$ (224,120 — (160,000 + 48,000} — (48,000 — 48,000) = $ 16,120

The higher the price than the floor price, the lower will be th.e gain to the acquiring
firm and higher the gain to the target company. Howe:ve.er_, Firm A may pay a large
premium to Firm B in order to lure the latter for acquisition. The ceiling will reach
where the price will be equal to the product of EPS of the target company and the
price-earning ratio of the acquiring firm. In the above gxant.lple, it is $ 2.67x 8 =
$ 21.36. At this price, Firm B will receive 0.6675 shares in Firm A in lieu of its one
share or in all 2,003 shares in Firm A meaning that there will be in all 7,003
shares in the merged firm. The EPS will then be $ 28,000/7,003 shares =~ $ 4.0
which is equal to the pre-merger EPS of Firm A. Assuming the price-earning ratio
of 8, the value of the merged firm will be $ 32 x 7,003 shares or $ 224,096. Thus
at both the ceiling price and the floor price, the value of the merged firm is almost
the same, but at the ceiling price, the net gain to the acquiring firm would be zero

because the gain from the merger will be reaped entirely by the target company.
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ned between these two limits depending
o t firm; and accordingly
ring firm and the targe ; )
{ﬁgeaiquul;i“ gg firm and the target firm. Suppose, the

the net gain is ! f Firm B. In this case, Firm A will issue
) Jue is $ 20 per share “:V hiclh would amount to 1,875 shares. The

¢ 32 x 1,875 shares or $ 60,000

In practice, the actual price is determi

the bargaining power 0
tho 1 shared by

0.625 share for oneé SHE® 1d now be

’ Firm B would no
value of ::Z:ile:s gvzglggomm the pre-merger period. The EPS of the merged firm
as comps )

ing a price-earning ratio of 8, the

/6,875 shares or $ 4.07. Assuming S
woud bf“3 t$i13 Slfgged frm will be $ 32.56 X 6,875 shares or $ 223,850 Yvhlch is
;?;iil‘othz.m the sum of the pre-merger value of the two firms. The net gain to the

iri 12.16) will be:
acquiring firm as per Eq. ( ]
$ (223,850 - (160,000 + 48,000)} — (60,000 — 48,000) = $ 3,850

Thus, at a price agreed upon petween the floor and the ceiling, bOtl'l the acquiring
firm and the target firm will reap benefits and as a result, both will agree to the

merger. However, there are cases when the aCQUir_ing firm opts fqr afBQUISlthIl even
when its net gain is zero. This is, however, done if some other significant benefits

are going to accrue to the acquiring firm.

PROBLEM 12.12 ‘ P

Firm A absorbs Firm B on the basis of the following data:
(a) Present earnings: Firm A—$ 40,000, Firm B—$ 18,000
(b) No. of shares: Firm A—5,000, Firm B-—3,000
(¢) EPS: Firm A—$ 8.0, Firm B—$'6.0 |
 (d) Market price of shares: Firm A—$ 40.0, Firm B—$ 21.0
(e) Price-earning ratio: Firm A—5.0, Firm B—3.50 ‘

Find out the gain to Firm A if the consideration price is $ 24.0 per share.
Solution '-
At a price of $ 24.0, a share in B = 0.6 share in A, This means that 1,800 shai‘és;

will be added to A’s already existing 5,000 shares in the merged firm. The EPS
in the merged firm will be: 58,000/6,800 = $ 8.53. Assuming a P/E ratio of 5, the
value of one share in the merged firm is $ 42.65 and the value of total 6,800
shgrg; Oai(:) 2tlge rate of $ 42.65 a share in the merged firm will be $ 42.65 x 6:800:

Applying Eq. (12.16), the gain will be _
$ (290,020 — (200,000 + 63,000) - (72,000 — 63,000)] = $ 18,020.]

VNS

Factors Influencing the Consideration Value

The cons.idei-ation.value has so far been discussed in absence of anv changes in the
international environment, but in international M&A. such chay : ancg nnot be
overlooked. One such change is the change in exchange I‘,ate The 10ngesth aexisting
spot I:ate of the currency of the target-company c ountry tl.le o wer f;he e
be paid by the acquiring firm. If it is higher, the salvage’value wi?f l;: hi;hir from

the viewpoint of the acquiring firm. If the fut :
. e . , : ure i :
the acquiring firm will receive a greater cash ﬂs‘l;ot rate Ig exparte fo.be I};gl}er, _
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on this count.

Last but not least, the important factors in this respect are the legal formalities \

regarding tax and acc i :
advantages for acqui counting. If they are favourable, they create competitive N
quiring firms in some countries. This means that when these

rules are more favourable and liberal, th e
oo a , the . . :
for acquisition. acquiring firm may bid a higher price

NON-FINANCIAL FACTORS IN CAPITAL BUDGETING

In the international capital budgeting process, financial factors do dominate | Non-financial factors
explaining how much cash flow the project is going to generate and what |I"encing capital

. : budgeting decision
the discount rate should be but it does not mean that the non-financial are;g1_'b%havi;u',a|

factors are negated. Rodriguez and Carter (1984) group these factors as, |characteristics of the
the behavioural characteristics of the organisation, and the business |organisation, and
strategy. 2, business strategy.
A firm has various levels of management depending upon its organisational
structure. In an international set-up, the structure is more complex, based normally
on the line-and-staff or functional pattern. Any decision passing through the different
levels of management is influenced by the attitude of the managers. The view of
one manager is normally different from that of another and consequently, the final
decision is the result of bargaining among the different levels of management.
Divergence in the views of managers is more apparent' in an international firm
where the managers come from varying cultural and social backgrounds and are
trained in diverse conditions. England and Lee (1971) have found that behavioural
emphasis varies widely between Japanese and American managers; American
managers emphasise organisational efficiency and profit maximisation, .W.hlle Japanese
managers lay greater stress on orgamsatmn_al growth and prqduct1v1ty. Thus the
projects fulfilling the financial norms pass in the final select1qn only when they
meet the expectations of the more powerful managers. It sometimes happens that
the organisational factors considerably mar the impact of f_inanclal evaluation based
on the cash flow analysis, although they do not negate it. : _
Apart from the organisational bel.lavmur that mﬂue_nces the capital budgeting
decision, proposals meeting the ﬁ{lanfnal norms must fit into .the corporate strategy.
The man,agement frames the combinations of strategies dep_endl.ng upon 1ts preferences
and capabilities and then fits the financially viable projects into its strategy framework.
For shaping the s'trategy'framework, the management dev_elcgps a set_ of criteria
including the product’s life-cycle stage, max_‘ket charactens’tlc_s, possibilities for
replacement or expansion, etc. Keeping in mind the product’s life-cycle stage, the .

management groups various host countries on the basis of market size, investment
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ket. An index is prepared
7 rces and access to mar

ate availabilitybof {:fl"ﬂc;i?l;n each market and ﬁnagy 1F’clh:a\:, product-country
‘clim ’ e . i .
gr the products o en of which the index number is the hig es} ified di

mbination is chos haracteristics are concerned, products are classj 1ed accor in
= As far as markett ¢ owth and the present state of market penetration. In this
to potential marke f%; e product and the elasticity of dem.and are a189 taken into
context, th,e price © ards the replacement-expansion decision, it is estimated ag to
consideratlllon": vf: g;tgions is more beneficial for the firm, preferably in a subjective
; the X X . = . )

“::;’ChDoefpending upon these considerations, a composite index ig built and only

those projects which are financially viable and have the highest score in terms of
oS |
the index.

SUMMARY

* The evaluation criteria of domestic investment
rate of return, pay-back period, NPV, IRR, and

ing cash flow, and the terminal cash flow are entered
into the evaluation formula, However, to make the apprai

sal more transparent,
. cash flow from the subsidiary’s point of view is also calculated, Accept/reject
decision is based on the two NPV,

The cash flow during period t1 to t, is discou
rate equal to the risk-adjusted cost of capital, The average cost of capital—
the sum of the cost of debt, and the cost of equity along with their respective
weight—is taken into account but the marginal cost of capital forms the
basis of the discount rate, if it is different from the average cost of capital.
Again, though MNCs are often able to rajse finance at lower cost, there are
some additional rigks- inheren

t in internationa] business and the cost of
capital is adjusted for these facts.

nted to the present value at a

ision will thus be more realistic.
real options facing j '

) finance managers that influence
.the capital budgeting decisionsg, '
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CASE STUDY

DAIICHI SANKYO OF JAPAN BUYS OUT 34.8 PER CENT STAKE IN RANBAXY
OF INDIA

Daiichi Sankyo of Japan was estabhsped in _2005 following the merger of two leading century-
old Japanese pharmaceutical companies. Being Japan’s second largest drug maker, it focuses
on therapeutic areas such as cardio-vascular disease and cancer and maintains a r'obust R&D
setup.

On the Indian side, Ranbaxy was founded in 1937 and since 1952, it has been one of
India's leading generic drug maker. Despite the fact that it focuses least on drug discovery, it
has presence in more than 100 countries. In 2007, its sales touched $ 1.6 billion.

On June 11, 2008, an agreement between the above two companies was signed as per
which Daiichi decided to buy out Ranbaxy's promotor's 34.8 per cent stake and to make an
open offer for acquiring another 20 per cent of the public shareholdings of the company at a

rate of Rs. 737 per share in Ranbaxy.

Is this deal gainful for Ranbaxy?
Now a very pertinent question arises as to what motivated the two companies to agree for this
type of acquisition. Experts believe that, first, Ranbaxy, through this deal, will be able to tap the
Japanese market where the rate of generic drug use is barely 17 per cent of the volumes
compared to 63 per cent in the USA. In the absence of such a deal, it is difficult to enter the
Japanese market in view of strict regulatory environment. . N
Secondly, in the pharmaceutical sector, giant MNCs are operating. The level of compel[tl_on
is very high. It is difficult for a single firm to compete. But if two or more firms merge, competitive

strength will naturally be greater. Survival in a keenly competitive environment wpuld be easy.
Thirdly, based on the present scenario, it is not possible for the generic business firms to
survive for a longer period without making huge investment in R&D. From this point of view,

g i ohi.
Ranbaxy would benefit from the strong R&D base of D_anc
Foun‘hlyulge consideration value of Rs. 737 is lucrative. If one looks at the Ranbaxy’s share

price in the market, it was found moving to and fro between Rs. 506.80 and Rs. 560.70 during

i + the consideration value is Rs. 737, it would have a gain of
the preceding 10 days. Thus, if rket. The gain is still more significant in view

around one-thi the prevailing price in the ma ' _ ‘
of the facr:eﬂ:gltr(tihgfcomgany has not experienced an encouraging trend in the retum on equity
in th _ '

Eif;zz,er}; F:,a,::v of the emerging synergies, it is expected that Ranbaxy will reach its 2015
sales target three years earlier.

Gains to Dailchi Sankyo ' i i

After this deal. Daiichi will have an added share in the market for generic drugs. Tpe quality

of these e will certainly iMPrOVe with its own strong R&D. This will a_add further to its market
gs will C he international market will improve. So far, it has

share. Mor iichi's presence in 1 3 :
Presence i:°:§|§} E:J';j ovzrseas markets. With Ranbaxy's greater spread in the overseas

Market, it will improve ' its position definitely.
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greater consideration value
ha_res in the combined ﬁrm'
arnings will tend to swel| due:
er market price of the shareg

The earning per share in the combined firm will improve. With
a shareholder owning 100 share in Ranbaxy will own around 76 s
The number of shares in the combined firm will be lower and the e
to reaping of synergies. The earning per share may lead to high
in the combined firm. ,

Last but not least, Daiichi is expected to hit the 1.5 trillion yen tar
around one-third of the revenue should come from Ranbaxy's Soda.

Source: Based on the reports published in Financial Express, 12/13 June 2008 and Mint, 12113 June 2008

get earlier by 2012, ag

QUESTIONS

1. Which form of M&A does the present deal represent? -
2. Is it beneficial for both the parties? '

3. Explain how the earning per share in the combined firm should increase.

| ‘REVI)E‘\_N" QUESTIONS

Objective-Type Questions

1. State whether true (T) or false (F):

(a) Depreciation is included in the cash flow. g]
(b) Cash flow is considered only on after-tax basis. é\

(c) Average cost of capital is the weighted sum of cost of equity, cost of
debt and cost of retained earnings. [3<

(d) Cost of retained earnings is included in the cost of equity. Ig
2. Choose the correct answer:

(a) International capital budgeting incorporates:
(i) , only financial factors
'(-i\f{ financial and non-financial factors
(iii) only the non-financial factors

(b) Cgast of new debt:
“(; includes floatation cost
(ii) does not include floatation cost
(i11) does not include taxes

(c) Free land and building given by the host-country government is
not included in the initial cash flow
(i) included in the initial cash flow
(iii) added to the initial cash flow

(d) Higher exchange rate risk/political risk
iif adds to the cost of capital
(ii) lessens the cost of capital -
(iii) bears no influence on the cost of capital

(e) Investment proposal is accepted if: ‘ : 3

(i) break-even salvage value is greater than the actual salvage value
#1) break-even salvage value is lower than the actual salvage value
(iii) none of these

A
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short-Answer Questions

1. Do you agree that the NPy
capital budgeting?

2. “Parent’s interest domin
Explain.

3. How do you treat the use of
flow? ‘ -

4. How do you calculate the cost of debt and cost of equity?

5. Is it correct to say that cost of capi s .
: : pital varies bet d
international capital budgeting? . e ratic. and

rule is better than the IRR rule for international

blocked funds for ‘calculating the initial cash

Long-Answer Questions

1. How do you compute the cash flow in international capital budgeting?
'Explain the various methods of estimating terminal cash flow.

Explain the Adjusted Present Value approach. ‘
How do you evaluate M&As? Explain the role of consideration value in this
respect. '

RN

Numerical Problem

1. The cost of the subsidiary project is US $ 20 million. It is financed through

different modes of funds. The parent unit makes an investment for
$ 12 million. A sum of $ 3 million is drawn out of retained earnings and
on is drawn out of the blocked funds. The subsidiary

f$ 2 million 1 A
another sum of $ he host country market. The remaining

illion from t
borrows $ 2 millo form of free land and building supplied by the host

illion is in the . Pmbes i3
foinl?rl.-)l,h;:v:;nlment‘ Find out the amount of initial investment from the

viewpoint of the parent. unit. | | - | |
9. Calculate the operating cash flow (US $) on the basis of the following data:

(a) Sales in the domestic market = US $ 14 million

b) Export = US $ 4 million. .~ b S
EC)) Rzp;)acement of parent’s export = UsS $ 2 million .
d) P fent’s export of components -to subsidiary = Us $ 3 million
(e) Rﬁyalty payment by subsidiary = US § 0.5 million
(f) Dividend flow. to the parent = US $ 0.5 million

[t o
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International Financial Management

3. Find the break-even salvage value if:

(a) Initial investment = $ 30 million :
(b) The net cash inflow during the first and the second year respectively

= $ 20 million and $ 15 million

(¢) Discount rate = 10%

A project of the foreign subsidiary has a beta of 1..10, t.ho risk-free return

of 15%, and the required return on the market being estimated at 20 per

cent. Find out the project’s cost of capital.

5. A firm with an overall debt-equity ratio of 1:2, an after-tax cost of debt gt
7 per cent, and cost of equity capital at 15 per cent is takiog up a project
abroad. The debt-equity norm of the foreign project is not different but the
systematic risk pulls down the cost of equity to 12 per cent. Again, there
is no change in the expected after-tax cost of debt. Calculate the weighted
average cost of capital. :

6. Firm A absorbs Firm B on the basis of the following data:

(a) Present earnings: Firm A—$ 40,000, Firm B—$ 18,000
(b) No. of shares: Firm A—5,000, Firm B—3,000

() EPS: Firm A—$ 8.0, Firm B—$ 6.0

(d) Market price of shares: Firm A—$ 40.0, Firm B—$ 21.0
(e) Price-earning ratio: Firm A—5.0, Firm B—3.50

Find out the gain to Firm A if the consideration price is $ 24.0 per share.

s
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